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Table 2.1 Database of intrinsic stress of SiN and AIN film
XN [gEI =7 |5 |EHE [EREH [BEAE  [RAAX [REGEN EE [AEAE DI NBE [E

1 108[M.Maeda, 1998|SiN Si or rf-biase SiH4- 400°C(360P [500nm |optically levered [6inch Fig.1
Klkeda(NTT System Quartz PCVD NH3-N2 [a) GAIRE: laser beam (625 um
Electronics Lab.) mixture  [20°C) technique thick)

2 202|Y-Toivola, J.Thurn, 2003(SiN HES LP(low— SiCI2H2(D [833°C(300 |1 #m |[FSM900TC,Fronti {100mm
G Cibuzar(Univ. of Si(100),a— |pressure)CVD |CS)NH3 |mTorr) er Semiconductor |(,500 ¢ m
Minnesota) silica Measurements, thick)

Inc.. San Jose. CA

3 203[M.Kammler(Univ. of | 2005|Si3N4 n-type LPCVD DCS,NH3 |780°C 500nm (100 4 m
Virginia), Si(001) (6% 10710 thick)
F.M.Ross(IBM) dyn cm-2)

4 24(S.Habermehl(Sandia | 1998|Si3N4 n-type LPCVD DCS,NH3 [850°C(200 [250~ |Tencor model 150mm
National Lab.) Si(100) mTorr) 450nm |FLX-2320

5 195|E.Ciancillstituto di 2005|SiN low-doped |[ECR(electron N2, SiH4(, [330°C 100~ |passive strain 3inch
Fotonicae singlepolis |cyclotron Ar) 130nm |sensor
Nanotecnologie IFN— hed Si resonance)—
CNR)

PECVD

6 18|B.W.Sheldon, 2005|AIN Si(111) ECR- Al(, N2?) [750°C 400~ |MOSS
A.Rajamani, MBE(molecula 1500n
E.Clhason(Brown r-beam m

7 201|B.W.Sheldon, 2003|AIN Si(111) ECR- Al(, N2?) [750°C 400~ |MOSS
E.Chason(Brown MBE(molecula 1500n
Univ.) r-beam m

8 BRMECGERAR | 2006/AINEEE [SiC REL 1900~ 3um
gzl = 2250°C(10 |~4mm

~ 100kPa)

9 198|H Edgar(Kansas State| 2002|AIN Si polarity [MO(metalorga [Trimethyla|1000°C(80T[1.5 £ m|Raman scattering
Univ.), M.Kuball(Univ. (0001) 6H-[mic)CVD luminium( |orr) spectroscopy(Dilo
of Bristol ;UK) Sic TMA), r XY micro-Raman

NH3(H2) system)
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Table 2.2 Database of intrinsic stress of Si and other metal film
[ TER3No. [FRT =T £ BEod [HiRal [RERE RAAZR [REEH [BE [AFEHAH PENC A E
10 92[E Chason, 1998]Si x Si(001)  |UHV 760°C Fig2
J.A Floro(Sandia Ge 1-x deposition
National Lab) _
1 56|B.W.Sheldon, 2001{polycryst |Si(001) CVD hydrogen [800°C(38To laser—deflection
A.Bajamani(Brown alline plasma, rr)
Univ.) diamond CH4
12 105|J.AFloro(Sandia 2001|a—Ge,p— |Si(001) electron beam 350, 10~ |MOSS Fig.3
NaCtional |Eab-)v Ge,p— evaporation 750°C(10°(=|100nm
D " SiAgALTi 8)Torr)
CV.Thompson(M.LT.)
13 111[J.AFloro, 2003(a-Si, a- |Si(001) electron beam 25, 90, 40~ |MOSS (100 m
S.C.Seel(Sandia Ge evaporation 150°C nm thick)
National Lab.)
XN PRI |5 U RGO [BEAE  [RAAX [REEH) [BE [AEhE TINEE [
14 103[C.Friesen, S.C.Seel. | 2004{polycryst |amorphous |e-beam MOSS,
C.V.Thompson(M.LT.) alline Cu [substrates |evaporation capacitance,
piezoresistive
15 104{C Friesen, 2002|polycryst |borosilicat [e—beam (3%x107(- MOSS
G.V.Thompson(M.LT.) alline Cu |e glass evaporation 9)Torr)
cantilever
16 4{S.C.Seel, 2000(Ag Si(001) electron beam 30,50,100°C (100 4 m
C.V.Thompson(lM.I.T.). evaporation 107(- thick)
J.A Floro(Sandia 8)Torr)
National Lab.)
17 115/S.JHearne, 2005(Ni Si(100) electrodeposit 40~55°C MOSS Fig.4
J.A..Floro(Sandla capped jon using a
National Lab) with Ti/Au [surfactant-
films free sulfamate
18 186|M.Pletea(Leibniz- 2006|Co oxidized [magnetron— (10°(-6)Pa) |300nm |laser-optical
Institut fur Si(100) sputter detection
Festkorper und deposition
Werkstoffforschung),
RKoch
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Fig. 2.1 The MOSS setup for measuring wafer curvature in real time
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E, - L; ,
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4. 3 OKMCOOOOOODOOO

D00000000000GiImer0000% 000000000000000¢O
00000000 —-0.15[eV]000OEOUODODOOOOOOODOOOOO

Table 4.1 Monte Carlo parameters

M; | wlem?/s] | E,[eV] | UleV]

3 120x107*| 0.10 |-1.960
4 |3.8x107"| 0.35 |-2.044
5 | 40x 1073 | 0.33 |-2.153
6 || .0x 1072 | 0.60 |-2.216
7 [ 1.0x1072| 0.60 |-2.248
8 |[1.0x 1072 | 0.60 |-2.284
9 |[1.0x1072| 0.60 |-2.303
10 | 1.0x 1072 | 0.60 |-2.305
11 | 1.0x 1072 | 0.60 |-2.378

12 — — -2.460

goboboooobon
gobobu3guuoboboog3gobbbouoonobobboudd vy
gobbobu40000b0b0004000b0000obbbuodn vy
ooooooooooo (Fig4.1,4.2 )0
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M;=30000Fig4.10000000000000000 E,00.10eV]0000
000000 exp(26.44) = 3.039 x 101[1/s] = 1.99 x 10~4[em?/s] 0000
0100000255 x10¥fem] 0000000
D00M;=40000Fig.4.20000000000000000 E,O 0.35[eV]O
000000000 exp(33.99) = 5.776 x 10[1/s] = 3.77 x 10~ [em?/s] 0 0 00O
Table 4.100000000000000000000000C0
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5.2 0O0O0OO0O
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Fig. 5.1 initial state
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Fig. 5.2 (a) final state
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Fig. 5.3 (b) final state
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6.2 OJ0OUOOLOUOOOUOOOOOOOOOO
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Fig. 6.1 The initial state for KMC simulation
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Fig. 6.2 The last state for KMC simulation (a) and (b)

ooboobooboooooooooooo 00000 RO Table6.100 00O
Ooo0opooOoOooooOouobD AODODOOUOODOOUObDOOoOODbOOoOobDo
ERERE

Table 6.1 Difference of r and h between (a) and (b)

r[A] | h[A] | A=h/r

(a) | 14.8 | 10.2 | 0.689

(b) || 135 | 7.65 | 0.567
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aspect 0 (0000 AODOOr00)0r000000r,, 0000000000000
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Fig. 6.3 Schematic diagrams illustrate how to calculate surface stresses of singular
surface
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Fig. 6.4 Schematic diagrams illustrate how to calculate surface stresses with adatoms

AU — AUy

f=fo+ AA

(6.3)
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AU = 2.81 x 10° [eV] (6.4a)
AU} = 3.84 x 10° [eV] (6.4b)
AA = 2275 [AY (6.4¢)
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Fig. 6.5 (a) last scene of depositioon
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Fig. 6.6 (b) last scene of deposition
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goooooboRKMCOObOOoOooooooobobooooooo

module mod_allocate_variables

implicit none

integer,public,allocatable ::

latf(:,:,:)
adatom(:,:)

integer,public,allocatable ::
integer,public,allocatable ::
integer,public,allocatable ::
integer,public,allocatable ::
integer,public,allocatable ::
real*8,public,allocatable ::

mask(:) ,mask2(:)
ianum(:)

ncd(:) ,ncdofnb(:,:)
sos(:,:),ncd_ss(:)

x(:),y(:),z(:)

real*8,public,allocatable ::
real*8,public,allocatable ::
real*8,public, allocatable i

integer,public :

integer,public ::
integer,public ::
integer,public ::
integer,public ::
real*8,public ::
real*8,public ::
real*8,public ::
real*8,public ::
real*8,public ::
real*8,public ::
real*8,public ::
real*8,public ::

integer jj,kk
contains

Energy(:,:)
Transitionrate(:,:)
: dEne(:,:)
nnx,nny,nnz,nss
nzfix nztemp nzfree
nfix,ntemp,nfree
iall,idep,isub,iad
iiend,iad_end
Temp , kB
rsum
nu(12)
nu_2,nu_3,nu_4,nu_b
Eact(12)
Fem(12) ,phi
Deporate,DeporateML
Strain

subroutine allocate_variables
iiend=100000!2012000 !60 ! 200

Temp=6.0d2

kB=1.3806503d-23

| Temperature [K]
IBoltzmann Constant 1.3806503d-23 [J/K]

kB=kB/1.6021773d-19 ! Boltzmann Const. 8.617337704d-5 [eV/K]
nnx=40140120 20

nny=50150124 ! even number 24

nzfix=3 I layer 6

nztemp=3 I layer 3

nzfree=3 I layer 6

idep=35!10!8

! layers of deposition (maximum)

nnz=nzfix+nztemp+nzfree+idep

! .1ad=10*12+8*11+6%x10!1120!30!1150!150!48

iad=

I number of adatoms

iad_end=8000!1ad+10000

nfix=nnx*nny*nzfix
ntemp=nnx*nny*nztemp
nfree=nnx*nny*nzfree

I atoms
I atoms
I atoms
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isub=nfix+ntemp+nfree
iall=isub+iad

nss=nnx*nny ! number of atoms of substrate on surface

Deporate=2.0d9!1.0d10! ! 1/sec
DeporateML=Deporate/nss ! MonoLayer/sec
Deporate=DeporateML*nss

Strain=0.01d0

allocate(x(isub+iad+iiend+100000)
,y(isub+iad+iiend+100000)
,Zz(isub+iad+iiend+100000)
,mask (isub+iad+iiend+100000)
,mask2 (isub+iad+iiend+100000)
,ianum(isub+iad+iiend+100000))

allocate(latf (nnx,nny,nnz))

allocate(adatom(iad+iiend+100000,3))
allocate(ncd(iad+iiend+100000))
allocate(ncdofnb(iad+iiend+100000,12))
allocate(sos(nss+100000,3)) !lattice number of Subst On Surface
allocate(ncd_ss(nss+100000))
allocate(Energy(iad+iiend+100000,12))
allocate(dEne(iad+iiend+100000,12))
allocate(Transitionrate(iad+iiend+100000,12))

do jj=1,isub+iad+iiend
x(jj)=0.0d0 ! [A]
y(jj)=0.0d0 ! [A]
z(jj)=0.0d0 ! [A]
mask(jj)=0
ianum(jj)=jj
enddo
do jj=1,iad+iiend
do kk=1,3
adatom(jj,kk)=0
enddo
ncd(jj)=0
do kk=1,12
ncdofnb(jj,kk)=0
Energy (jj,kk)=0.0d0
dEne (jj,kk)=0.0d0
Transitionrate(jj,kk)=0.0d0
enddo
enddo
do jj=1,nss
do kk=1,3
sos(jj,kk)=0
enddo
enddo

do jj=1,2
nu(jj)=1.0d-6 ! [cm~2/sec]
enddo
nu(3)=2.0d-4
nu(4)=3.8d-1
nu(5)=4.0d-3
do jj=6,12
nu(jj)=1.0d-2
enddo
nu_2=1.0d0!5.0d0 ! tendency of adatom on substrate to move
nu_3=1.0d2!7.0d0 ! tendency of adatom on substrate to ascend
nu_4=1.0d2!3.0d0 ! tendency of adatom in island to ascend
nu_5=1.0d0 I tendency of adatom in island to descend

e
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do jj=1,2
Eact(jj)=0.0d0 ! [eV]

enddo

Eact(3)=0.1040

Eact(4)=0.35d0

Eact(5)=0.33d0

do jj=6,12
Eact(jj)=0.6d0

enddo

1 Fem(0)=0.0d0
Fem(1)=-1.0d0 ! embedding function [eV]
Fem(2)=-1.5d0
Fem(3)=-1.960d0
Fem(4)=-2.044d0

Fem(5)=-2.153d0
Fem(6)=-2.216d0
Fem(7)=-2.248d0
Fem(8)=-2.284d0
Fem(9)=-2.303d0

Fem(10)=-2.305d0
Fem(11)=-2.378d0
Fem(12)=-2.460d0
phi=-0.15d0 ! pair interaction strength [eV]

return ) )
end subroutine allocate_variables

end module mod_allocate_variables
NEERREERERRRERRERRERRRR R RN RRERRERRERRRRRRRRRERRERRRRRRRRE

! start main program
RN R RN R RN R RN NN RN R RN NN RN NN RN

program kmc_main

use mod_allocate_variables
implicit none

integer 1i,ii,ic

integer ix,iy,iz

integer ia

integer n_stgrnd

integer ixa,iya,iza

integer j,k

integer ianew,ixnew,iynew,iznew
integer intrand

integer CoordinationNumber ! (a)
integer iatemp L (b)
integer ianx,iany,ianz ' (b), (c)
integer itr,itrmax t(d)

integer mx,my,mz t(a)

integer itestl,itest2

integer xmargin,ymargin,isl_x,isl_y
integer iss,mod?2

integer icpx,icpy,icpz ! (b)

integer ipx,ipy,ipz,ipxx,ipyy,ipzz ! (b)
integer ncdip ! (b)

integer nsnap_cn,iisnap_cn

integer n_posi_Tr

integer islandl

integer ini_switch

real*8 grnd,rand,rand2

real*8 cellx,celly,cellz

40



real*8 alatc
real*8 t,deltat,randt

real*8 rsum_ave ! except Deporate
real*8 center_island(3,3),width_island(3,3)

real*8 Ebef,Eaft(12) ! (b)
real*8 Etot I (b), (c)
real*8 trrnd I (d)

real*8 rt_cn(12)
integer*8 num_cn(12)

integer imv,idir ! (e)
integer imx,imy,imz ! (e)
NEEEERRRRERRRRRRRRRR RN

! initialize random number
call system_clock(count=ic)
call random_seed(put=(/ic/))
call random_number (rand?2)
n_stgrnd = int(rand2%100000)
n_stgrnd = 22000
do i=1,n_stgrnd

rand=grnd ()

enddo
rand=rand*1.0d0
RERERRERRRERRRRRRRRERERR

alatc=3.614979d0 ! [A]
alatc=2.556162d0*sqrt (2.0d0) ! [A]
! i:number of atoms ii:time step

call allocate_variables
do jj=1,12
nu(jj)=nu(jj)/(alatc*alatc*(1.0d-16)/2.0d0) ! [1/sec]
! write(6,’(i3,e14.6)°)jj,nu(jj)
enddo

do j=1,iall
ianum(j)=29
enddo

cellx=alatc*nnx/sqrt(2.0d0)
celly=alatc*nny*sqrt(6.0d0)/4.0d0
cellz=alatc*nnz*sqrt(3.0d0)/3.0d0

! initialize lattice
do ix=1,nnx
do iy=1,nny
do iz=1,nnz
latf(ix,iy,iz)=-1
enddo
enddo

! initialize lattice next step

1l write substrate
do ix=1,nnx
do iy=1,nny
do iz=1,nnz-idep
latf(ix,iy,iz)=0
enddo
enddo

enddo
(N write adatoms
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center_island(1,1)=0.5d0!0.39d0!0.3d0 ! x center of
center_island(1,2)=0.5d0 ! y center of 1st island
width_island(1,1)=0.9999999999d0!%0.01d0 ! x width

width_island(1,2)=0.9999999999d0!%0.01d0 ! y width
center_island(2,1)=0.5d0!0.61d0!0.7d0 ! x center of
center_island(2,2)=0.5d0 ! y center of 2nd island
width_island(2,1)=0.9999999999d0!*0.01d0 ! x width
width_island(2,2)=0.9999999999d0!%0.01d0 ! y width
islandi=iad/2

if(iad.gt.0) then

do ia=1,iad
ixa=0.9999999999d0*grnd () *nnx+1
iya=0.9999999999d0*grnd () *nny+1

if(ia.lt.islandl) then

ixa=( (center_island(1l,1)-width_island(1,1)*0.

+(width_island(1,1)*grnd()) )*nnx+1

iya=( (center_island(1,2)-width_island(1,2)*0.

+(width_island(1,2)*grnd()) )*nny+1
endif ! ja<islandl
if (ia.ge.islandl) then

ixa=( (center_island(2,1)-width_island(2,1)*0.

+(width_island(2,1)*grnd()) )*nnx+1

iya=( (center_island(2,2)-width_island(2,2)*0.

+(width_island(2,2)*grnd()) )*nny+1
endif ! ia>=islandl

11l for NEB !!!!
if(iiend==0) then
if(ia==1) then
ixa=19
iya=26

endif
if (ia==2)
1xa=20
iya=26

endif
if (ia==3)

then

ini_switch=1
ini_switch=10
if ((ini_switch==1) .or. (ini_switch==2))then
if (ia==1) then
ixa=nnx/2
iya=nny/2+1
endif
if (ini_switch==2) then
if(ia==2) then
ixa=7
iya=9
endif

endi

endif ! switch==1,2

if(ini_switch==5) then
if (ia==1)ixa=5
if(ia==2)ixa=3
if(ia==3)ixa=4
if(ia==4)ixa=7
if (ia==b)ixa=8
iya=9

endif ! switch==5
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if (ini_switch==10) then !! assuming nnz+idep+1=3k+1
xmargin=15
ymargin=17
isl_x=10
isl_y=12
ixa=mod2(ia,isl_x)+xmargin
iya=mod((ia-mod2(ia,isl_x))/isl_x,isl_y)+1l+ymargin
if ((ia>isl_x*isl_y) .and.
(ia<=isl_x*isl_y+(isl_x-2)*(isl_y-1))) then
ixa=mod2(ia-isl_x*isl_y,isl_x-2)+xmargin+1
iya=mod (((ia-isl_x*isl_y)-mod2(ia-isl_x*isl_y,isl_x-2))
/(isl_x-2),(isl_y-1))+2+ymargin
endif
if (1a>isl_x*isl_y+(isl_x-2)*(isl_y-1)) then
ixa=mod2(ia-isl_x*isl_y-(isl_x-2)*(isl_y-1),isl_x-4)
+xmargin+2
iya=mod (((ia-isl_x*isl_y-(isl_x-2)*(isl_y-1))
-mod2(ia-isl_x*isl_y-(isl_x-2)*(isl_y-1),isl_x-4))
/(isl_x-4),(isl_y-2))+2+ymargin

endif
endif ! switch==10

iza=nnz-idep+1 NREERERRRNY

iza=nnz-idep+3-mod(ia,3) e
iza=nnz

I111 for NEB !!!!
if (iiend==0) then
if( (ia>=1).and. (ia<=3) ) then
iza=nnz-idep+1
endif ! 1<=ia<=3
endif ! iiend==0
11t for NEB !!1!
if ((ini_switch>=1) .and. (ini_switch<=9)) then
iza=nnz-idep+1
endif ! 1<= ini_swithc <=9
if (ini_switch==10) then
iza=nnz-idep+1
if ((ia>isl_x*isl_y) .and.
(ia<=isl_x*isl_y+(isl_x-2)*(isl_y-1))) then
iza=nnz-idep+2
endif
if (1a>isl_x*isl_y+(isl_x-2)*(isl_y-1)) then
iza=nnz-idep+3
endif
write(6,’(4i6)’)ia,ixa,iya,iza
if(ia>isl_x*isl_y+(isl_x-2)*(isl_y-1)+(isl_x-4)*(isl_y-2))
write(6,’ (abb)?)
’ia>isl_x*isl_y+(isl_x-2)*(isl_y-1)+(isl_x-4)*(isl_y-2)’
endif

adatom(ia,1)=ixa

adatom(ia,2)=iya

Edgtom(ia,3)=iza

do while (latf(ixa,iya,iza) .gt. 0)
k=k+1
ixa=0.99999999999d0*grnd () *nnx+1
iya=0.99999999999d0*grnd () *nny+1

if(ia.lt.island1l) then
ixa=( (center_island(1,1)-width_island(1,1)*0.5d0)
+(width_island(1,1)*grnd()) )*nnx+1
iya=( (center_island(1,2)-width_island(1,2)*0.5d0)
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lccce

iccc

+(width_island(1,2)*grnd()) )*nny+1
endif ! ja<islandl
if(ia.ge.islandl) then

ixa=( (center_island(2,1)-width_island(2,1)*0.5d0)
+(width_island(2,1)*grnd()) )*nnx+1
iya=( (center_island(2,2)-width_island(2,2)*0.5d0)
+(width_island(2,2)*grnd()) )*nny+1
endif ! ia>=islandl
iza=idep
iza=nnz-idep+1 rrrrrrrrrrrrnd
iza=nnz-idep+3-mod(ia,3) trrrrrrrrrrrn

iza=nnz
if(k.ge.10) iza=nnz
adatom(ia,1)=ixa
adatom(ia,2)=iya
adatom(ia,3)=iza
enddo
latf(ixa,iya,iza)=ia
if (iza .ge. nnz-idep+2) then
do k=1,idep-1
call moveO(iad,nnx,nny,nnz,latf,adatom,
ixa,iya,iza,ia,iiend)
write(6,*)ia
enddo !'k=1,idep-1
endif !if iza >= nnz-idep+2
write(6,*)ia,adatom(ia,1),adatom(ia,2),adatom(ia,3)
enddo ! ia=1,iad
endif ! jad.gt.0
do iz=1,nnz
do ix=1,nnx

do iy=1,nny
write(6,’(4ib)’)ix,iy,iz,latf(ix,iy,iz)
enddo
enddo

enddo
NEEERRERRRRRNRERRRERRERRRRRRRRRRRRERREERRERRRERE

do iss=1,nss
sos(iss,1)=mod2(iss,nnx)
sos(iss,2)=(iss-sos(iss,1))/nnx+1
sos(iss,3)=nnz-idep
enddo
open files
if(iii == 0) then
open(101,file=’pv.dat’)
open(102,file="mask.dat’)
open(103,file=’data.dat’)
open(105,file=’coord.dat’)
open(106,file=’energyl.dat’)
open(107,file="Ds_kT.dat’)

write header cccccccceccceccecccce
write(101,%)1,iall,koma ! atomic type, number of atoms, koma

write(101,%)1,iall,iiend+1
write(101,’(3f8.2)’)cellx,cellz,celly ! lattice size
write(101,’(2£8.2)°)0.0d0,1.0d0 ! initial time, time step

write(105,’(a38)’)’ step timel[s] num_cn (k) rt_cn(k)’
£=0.0d0

deltat=0.0d0

write(103,’(2e13.5)’)t,deltat
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ii=0
lccc write initial state cccc
call write_coordinates(ii,iiend,iall,nnx,nny,nnz,x,y,z,
mask,mask2,ianum,nfix,ntemp,nfree,
alatc,cellx,celly,cellz,lattf,
nzfix,nztemp,nzfree,idep,iad,isub
,Strain,iad_end)

e

lcceceececececeeeeececeececececeee
if (iad==0) then
write(6,’(al0)’)’no adatom’

stop
endif ! iad==0
Etot=0.0d0

rsum_ave=0.0d0

nsnap_cn=100 ! number of steps in "coord.dat"
if (iiend<nsnap_cn)then
nsnap_cn=iiend
endif
iisnap_cn=iiend/nsnap_cn

step:do ii=1,iiend

11! start counting coordination number (a)
do ia=1,iad
ncd(ia)=CoordinationNumber (adatom(ia, 1) ,adatom(ia,?2)
& ,adatom(ia,3))
do j=1,12
ncdofnb(ia, j)

& =CoordinationNumber (
& mx (adatom(ia, 1) ,adatom(ia,?2),adatom(ia,3),j)
& ,my(adatom(ia,1),adatom(ia,2),adatom(ia,3),j)
& ,mz(adatom(ia, 1) ,adatom(ia,2),adatom(ia,3),j) )
& 1’-1’ means decreasing by moving of original atom to neighbor
if(ii==1) then
if (latf (mx(adatom(ia, 1) ,adatom(ia,2),adatom(ia,3),j),
& my (adatom(ia,1),adatom(ia,2),adatom(ia,3),j),
& mz (adatom(ia, 1) ,adatom(ia,2),adatom(ia,3),j))==-1)then
! write(6,%*)ia, j,ncd(ia),ncdofnb(ia,j)
endif
endif

enddo ! j=1,12
enddo ! 1<=ia<=iad

do iss=1,nss
ncd_ss(iss)=CoordinationNumber (sos(iss, 1) ,sos(iss,2)
& ,sos(iss,3))
enddo ! 1<=iss<=nss
'l end counting coordination number
if (ii==1) then
do jj=1,12
num_cn(jj)=0
rt_cn(jj)=0.0d0
enddo
do ia=1,iad
num_cn(ncd(ia))=num_cn(ncd(ia))+1
enddo 'ia=1,iad
do iss=1,nss
num_cn(ncd_ss(iss))=num_cn(ncd_ss(iss))+1
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enddo
do jj=1,12
rt_cn(jj)=float(num_cn(jj))/float(iad+nss)
enddo
write(105,’(i5,e11.4,2i2,10i5,2e8.1,10e11.4,i5)’)ii-1,t
& , (mum_cn(jj),jj=1,12),(rt_cn(jj),jj=1,12) ,iad+nss
endif ! ii==

11! start calculating total energy (b)

Etot=0,0d0

do ia=1,iad
Etot=Etot+Fem(ncd(ia))+0.5d0*phi*ncd(ia)

enddo ! ia=1,iad

do iss=1,nss
Etot=Etot+Fem(ncd_ss(iss))+0.5d0*phi*ncd_ss(iss)

enddo ! iss=1,nss

if(ii==1) write(6,’(a6,e13.6)’) ’Etot= ’,Etot
do ia=1,iad

icpx=adatom(ia,1) ! Center of Partial region
icpy=adatom(ia,?2)
icpz=adatom(ia,3)
Ebef=0.0d0
if (adatom(ia,3)==nnz-idep+1) then
do ipxx=icpx-3,icpx+3
do ipyy=icpy-3,icpy+3
do ipzz=icpz-1,icpz+2
ipx=ipxx
1py=1pyy
ipz=ipzz
11l periodic boundary condition
if ((ipxx<=0) .or. (ipxx>=nnx+1)) then
ipx=mod2 (ipxx,nnx)
endif ! ipxx
if ((ipyy<=0) .or. (ipyy>=nny+1)) then
ipy=mod2 (ipyy,nny)
endif ! ipyy

if ((ipzz>=1) .and. (ipzz<=nnz)) then
if (latf (ipx,ipy,ipz)>=0) then
ncdip=CoordinationNumber (ipx,ipy,ipz)
Ebef=Ebef+Fem(ncdip)+0.5d0*phi*ncdip
endif ! latf>=0
endif ! 1<=ipzz<=nnz
if ((ipzz<=0) .or. (ipzz>=nnz+1)) then
ncdip=0
endif ! ipzz
enddo ! ipzz
enddo ! ipyy
enddo ! ipxx
endif ! adatom(ia,3)==nnz-idep+1
if (adatom(ia,3)>=nnz-idep+2) then
do ipxx=icpx-3,icpx+3
do ipyy=icpy-3,icpy+3
do ipzz=icpz-2,icpz+2
ipx=ipxx
1py=1pyy
ipz=ipzz
I'l'l periodic boundary condition
if ((ipxx<=0) .or. (ipxx>=nnx+1)) then
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ipx=mod2 (ipxx,nnx)

endif ! ipxx

if ((ipyy<=0) .or. (ipyy>=nny+1)) then
ipy=mod2 (ipyy,nny)

endif ! ipyy

if ((ipzz>=1) .and. (ipzz<=nnz)) then
if (latf (ipx,ipy,ipz)>=0) then
ncdip=CoordinationNumber (ipx,ipy,ipz)
Ebef=Ebef+Fem(ncdip)+0.5d0*phi*ncdip

endif ! latf>=0
endif ! 1<=ipzz<=nnz

if ((ipzz<=0) .or. (ipzz>=nnz+1)) then
ncdip=0
endif ! ipzz
enddo ! ipzz
enddo ! ipyy
enddo ! ipxx
endif ! adatom(ia,3)>=nnz-idep+2

do j=1,12

ianx=mx(adatom(ia,1),adatom(ia,2),adatom(ia,3),j)
iany=my(adatom(ia,1),adatom(ia,2),adatom(ia,3),j)
ianz=mz(adatom(ia,1),adatom(ia,2),adatom(ia,3),j)

if( (latf(ianx,iany,ianz)==-1) .and.
(ncdofnb(ia,j).ge.3) ) then
Il move atom temporarily
latf(adatom(ia,1),adatom(ia,2),adatom(ia,3))=-1
latemp=ia
latf(ianx,iany,ianz)=iatemp
icpx=adatom(iatemp,1) ! Center of Partial region
icpy=adatom(iatemp,2)
icpz=adatom(iatemp,3)
Eaft(j)=0.0d0
if (adatom(iatemp,3)==nnz-idep+1) then
do ipxx=icpx-3,icpx+3
do ipyy=icpy-3,icpy+3
do ipzz=icpz-1,icpz+2
ipx=ipxx
1py=1pyy
ipz=ipzz
I'l'l periodic boundary condition
if ((ipxx<=0) .or. (ipxx>=nnx+1)) then
ipx=mod2 (ipxx,nnx)
endif ! ipxx
if ((ipyy<=0) .or. (ipyy>=nny+1)) then
ipy=mod2 (ipyy,nny)
endif ! ipyy

if ((ipzz>=1) .and. (ipzz<=nnz)) then
if (latf (ipx,ipy,ipz)>=0) then
ncdip=CoordinationNumber (ipx,ipy,ipz)

Eaft(j)=Eaft(j)+Fem(ncdip)+0.5d0*phi*ncdip

dEne(ia, j)=Ebef-Eaft(j)
. ! difference between Ebef & Eaft
endif ! latf>=0
endif !1<=ipzz<=nnz
if ((ipzz<=0) .or. (ipzz>=nnz+1)) then
ncdip=0
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endif ! ipzz
enddo ! ipzz
enddo ! ipyy
enddo ! ipxx
endif ! adatom(ia,3)==nnz-idep+1
if (adatom(iatemp,3)>=nnz-idep+2) then
do ipxx=icpx-3,icpx+3
do ipyy=icpy-3,icpy+3
do ipzz=icpz-2,icpz+2
ipx=ipxx
1py=1pyy
ipz=ipzz
I'l'l periodic boundary condition
if ((ipxx<=0) .or. (ipxx>=nnx+1)) then
ipx=mod2 (ipxx,nnx)
endif ! ipxx
if ((ipyy<=0) .or. (ipyy>=nny+1)) then
ipy=mod2 (ipyy,nny)
endif ! ipyy

if ((ipzz>=1) .and. (ipzz<=nnz)) then
if (latf (ipx,ipy,ipz)>=0) then
ncdip=CoordinationNumber (ipx,ipy,ipz)
Eaft(j)=Eaft(j)+Fem(ncdip)+0.5d0*phi*ncdip
dEne(ia, j)=Ebef-Eaft(j)
. ! difference between Ebef & Eaft
endif ! latf>=0
endif !'1<=ipzz<=nnz

if ((ipzz<=0) .or. (ipzz>=nnz+1)) then
ncdip=0
endif ! ipzz
enddo ! ipzz
enddo ! ipyy
enddo ! ipxx
endif ! adatom(ia,3)>=nnz-idep+2
11l return temporary movement of atom
latf(ianx,iany,ianz)=-
latf (adatom(ia,1),adatom(ia,2),adatom(ia,3))=ia
endif ! latf==-1
if( (latf(ianx,iany,ianz).ne.-1) .or.
(ncdofnb(ia,j).le.2) ) then

Eaft(3)=0.0d0
dEne (ia, j)=Ebef-Eaft (j)

endif ! latf.ne.-1

if((ii==1) .or.(ii==iiend)) then
if (latf (mx(adatom(ia,1) ,adatom(ia,2),adatom(ia,3),j),

& my (adatom(ia, 1) ,adatom(ia,2),adatom(ia,3),j),
& mz(adatom(ia,1) ,adatom(ia,2),adatom(ia,3),j))==-1)then
write(6,’(2i4,a5,e23.15)’)ia,j,’ dEne’,dEne(ia,j)
~endif
endif

enddo ! j=1,12

enddo !'ia=1,iad
I''l end calculating total energy

11! start calculating transition rate and sum (c)

rsum=0.0d0
n_posi_Tr=0
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do ia=1,iad

do j=1,12
ianx=mx (adatom(ia,1) ,adatom(ia,2),adatom(ia,3),j)
iany=my(adatom(ia,1),adatom(ia,2),adatom(ia,3),j)
ianz=mz(adatom(ia,1),adatom(ia,2),adatom(ia,3),j)

if( (latf(ianx,iany,ianz)==-1) .and.
& (ncdofnb(ia,j).ge.3) ) then
if (dEne(ia, j)>=0.0d0) then ! if Ebef>=Eaft
Transitionrate(ia,j)=nu(ncd(ia))
& *xexp (- (Eact (ncd(ia)))/ (kB*Temp))

endif ! dEne>=0
if (dEne(ia, j)<0.0d0) then ! if Ebef<Eaft

Transitionrate(ia, j)=nu(ncdofnb(ia, j)) !'nu(ncd(ia))?
& xexp (- (Eact (ncdofnb(ia,j))-dEne(ia, j))/(kB*Temp))
endif ! dEne<0

ret Il tendency of adatom on substrate to move
if((j.ge.4) .and.(j.1le.9)) then
if (adatom(ia,3)==nnz-idep+1) then
Transitionrate(ia,j)=Transitionrate(ia, j)*nu_2
endif ! adatom(ia,3)==nnz-idep+1
endif ! 4<=j<=9
M 11l tendency of adatom on sub , in isl to ascend
if((j.ge.10).and.(j.1le.12)) then
if (adatom(ia,3)==nnz-idep+1) then
Transitionrate(ia, j)=Transitionrate(ia, j)*nu_3
endif ! adatom(ia,3)==nnz-idep+1
if( (adatom(ia,3)>=nnz-idep+2).and.
& (ncd(ia)<=6) ) then
Transitionrate(ia,j)=Transitionrate(ia, j)*nu_4
endif ! adatom(ia,3)>=nnz-idep+2
endif ! 10<=j<=12
M 11l tendency of adatom in isl to descend
if((j.ge.1).and.(j.1le.3)) then
if ( (adatom(ia,3)>=nnz-idep+2).and.
& (ncd(ia)<=6) ) then
Transitionrate(ia,j)=Transitionrate(ia,j)*nu_5

endif )
endif ! 1<=j<=3
if(ii==iiend)then

if (latf(ianx,iany,ianz)==-1)then
! write(6,%*)ia,j,latf(ianx,iany,ianz)

endif
endi
endif ! latf == -1
if ( (latf(ianx,iany,ianz).ne.-1) .or.
& (ncdofnb(ia,j).le.2) ) then

Transitionrate(ia,j)=0.0d0
if(ii==iiend)then
if (latf(ianx,iany,ianz).ne.-1) then
! write(6,*)latf (ianx,iany,ianz)
endif
endif
endif !'latf.ne.-1
if(ii==iiend) then
! if (ia==1) write(6,*)j,Transitionrate(ia,j)
endif

et start eliminating Transition to emerge (C.N.<=2) atom
RNy and (C.N.>9) vacancy
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ianx=mx(adatom(ia,1),adatom(ia,2),adatom(ia,3),j)
iany=my(adatom(ia,1),adatom(ia,2),adatom(ia,3),j)
ianz=mz(adatom(ia,1),adatom(ia,2),adatom(ia,3),j)

if ( (latf(ianx,iany,ianz)==-1) .and.
(ncdofnb(ia,j).ge.3) ) then
11l move atom temporarily
latf(adatom(ia, 1) ,adatom(ia,2),adatom(ia,3))=-1
latemp=ia
latf(ianx,iany,ianz)=iatemp
icpx=adatom(iatemp,1) ! Center of Partial region
icpy=adatom(iatemp,2)
icpz=adatom(iatemp,3)
if (adatom(iatemp,3)==nnz-idep+1) then
do ipxx=icpx-2,icpx+2
do ipyy=icpy-2,icpy+2
do ipzz=icpz-1,icpz+2
ipx=ipxx
1py=1pyy
ipz=ipzz
Il periodic boundary condition
if ((ipxx<=0) .or. (ipxx>=nnx+1)) then
ipx=mod2 (ipxx,nnx)
endif ! ipxx
if ((ipyy<=0) .or. (ipyy>=nny+1)) then
ipy=mod2 (ipyy,nny)
endif ! ipyy

if ((ipzz>=1) .and. (ipzz<=nnz)) then
if (latf (ipx,ipy,ipz)>=0) then
ncdip=CoordinationNumber (ipx,ipy,ipz)
if (ncdip<=2) then
Transitionrate(ia,j)=0.0d0
endif ! ncdip<=2
endif ! latf>=0
if (latf (ipx,ipy,ipz)==-1) then
ncdip=CoordinationNumber (ipx,ipy,ipz)
if (ncdip>=9) then
Transitionrate(ia,j)=0.0d0

endif
endif ! latf==-1
endif !1<=ipzz<=nnz
if ((ipzz<=0) .or. (ipzz>=nnz+1)) then
ncdip=0
endif ! ipzz
enddo ! ipzz
enddo ! ipyy
enddo ! ipxx
endif ! adatom(ia,3)==nnz-idep+1
if (adatom(iatemp,3)>=nnz-idep+2) then
do ipxx=icpx-2,icpx+2
do ipyy=icpy-2,icpy+2
do ipzz=icpz-2,icpz+2
ipx=ipxx
1py=1pyy
ipz=ipzz
Il periodic boundary condition
if ((1pxx<=0) .or. (ipxx>=nnx+1)) then
ipx=mod2 (ipxx,nnx)
endif ! ipxx
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if ((ipyy<=0) .or. (ipyy>=nny+1)) then
ipy=mod2 (ipyy,nny)
endif ! ipyy
if ((ipzz>=1) .and. (ipzz<=nnz)) then
if (latf (ipx,ipy,ipz)>=0) then
ncdip=CoordinationNumber (ipx,ipy,ipz)
if (ncdip<=2) then
Transitionrate(ia,j)=0.0d0
endif ! ncdip<=2
endif ! latf>=0
if (latf (ipx,ipy,ipz)==-1) then
ncdip=CoordinationNumber (ipx,ipy,ipz)
if (ncdip>=9) then
Transitionrate(ia,j)=0.0d0

endif
endif ! latf==-1
endif !1<=ipzz<=nnz

! if ((ipzz<=0) .or. (ipzz>=nnz+1)) then
! ncdip=0
! endif ! ipzz

enddo ! ipzz

enddo ! ipyy

enddo ! ipxx

endif ! adatom(ia,3)>=nnz-idep+2

rel 11l return temporary movement of atom
latf(ianx,iany,ianz)=-1
latf(adatom(ia,1) ,adatom(ia,2),adatom(ia,3))=1ia
endif ! latf==-1
rrrred end eliminating Transition to emerge ...
if (Transitionrate(ia,j).ne.0.0d0) then
M 111 if tr is positive value
n_posi_Tr=n_posi_Tr+1
! if (ii==iiend) then
! write(106,’ (2i4,e11.4)’)ia,j,Transitionrate(ia,j)
_endif
endif ! Tr>0.0d0
rsum=rsum+Transitionrate(ia,j)
enddo ! j=1,12
enddo ! ia=1,iad
if ((ii==1) .and. (iiend==1))then
! write(6,’(a9,e14.6)’)’Tr(1,4)= ’,Transitionrate(1,4)
I do jj=4,9
I write(6,’(e14.6)’)Transitionrate(1,jj)

M enddo
write(107,’(a6,al,all,ad4,a8,a7,a6,a6)’)’’,’T>,%",

& ’1/kT?,’?,’Tr(1,5)’,?°,’1n(Tr)’
write(107,’ (4e14.6)’)Temp,1.0d0/ (kB*Temp)
& ,Transitionrate(1,5),log(Transitionrate(1,5))

endif
rsum_ave=rsum_ave+rsum

rsum=rsum+Deporate
Il end calculating transition rate and sum

11! start selecting transition (d)
itrmax=12%iad+1
trrnd=rsum*grnd () *0.9999999999d0

! if (mod(ii,5)==0) then
! write(6,*)trrnd,rsum
! endif ! 1i%5=0
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itr=1
trrnd=trrnd-Transitionrate( itr/12+1-((12-mod(itr,12))/12)
, mod(itr,12)+((12-mod(itr,12))/12)*12 )!/rsum
do while((trrnd .ge. 0.0d0).and. (itr.le.itrmax-2))
itr=itr+1
trrnd=trrnd-Transitionrate( itr/12+1-((12-mod(itr,12))/12)
, mod(itr,12)+((12-mod(itr,12))/12)*12 )!/rsum
enddo ! while

if (trrnd .ge. 0.0d0) then
itr=itr+1
endif ! trrnd>=0
write(6,*)itr,itr/12+1-((12-mod(itr,12))/12)
& ,mod(itr,12)+((12-mod(itr,12))/12)*12
itestl=1
itest2=1
do k=1,60
itest1=k/12+1-((12-mod(k,12))/12)
itest2=mod(k,12)+((12-mod(k,12))/12)*12
if(ii==iiend+1) then
write(6,’(a4,i3,a5,i3)’) itl=",itestl,’ it2=’,itest2

endif
enddo 'k=1,60

I'l'l end selecting transition

1! start moving adatom (e)
if(itr.1t.itrmax) then

imv=itr/12+1-((12-mod(itr,12))/12) !number of adatom to move
idir=mod2(itr,12)
write(6,’(i3,a2,i4,al1,i3,a2,2i4)’)ii,’ C ,imv,’,’,idir,

& ’)? ,ncd(imv) ,iad
limx means new X to which adatom of imv move
imx=mx (adatom(imv,1) ,adatom(imv,2) ,adatom(imv,3),idir)
imy=my (adatom(imv,1) ,adatom(imv,2) ,adatom(imv,3),idir)
imz=mz (adatom(imv, 1) ,adatom(imv,2),adatom(imv,3),idir)

if (latf (imx,imy,imz) .ne.-1) then

write(6,*)ii,’ , another atom already exists!’
write(6,*)imx,imy,imz,latf (imx,imy,imz)
stop

endif ! latf.ne.-1
write(6,*)imx,imy,imz,latf (imx,imy,imz)

latf (adatom(imv,1) ,adatom(imv,2) ,adatom(imv,3))=-1
latf (imx,imy,imz)=imv

adatom(imv,1)=imx

adatom(imv,2)=imy

adatom(imv, 3)=imz

if((ii.ge.iiend-1) .and.(ii.le.iiend)) then
write(6,x*)
do ia=1,iad
write(6,*)ia,adatom(ia,l),adatom(ia,2),adatom(ia,3)
enddo
write(6,x*)
endif! (3<=1i<=4)
endif ! itr<itrmax
I''! end moving adatom

'l start depositing new adatom (f)
if(itr.eq.itrmax) then
write(6,’(i3,a12,i4)’)ii,’ deposition’,iad
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111! new adatom start !!!!!
iad=iad+1
lanew=iad
iall=iad+isub
ianum(iall)=29

ixnew=0.9999999999*grnd () *nnx+1
iynew=0.9999999999*grnd () *nny+1
iznew=nnz

adatom(ianew,1)=ixnew
adatom(ianew,2)=iynew
adatom(ianew,3)=iznew

k=0
if (k<-1) then

do while (latf(ixnew,iynew,iznew) .gt. 0)
k=k+1
ixnew=0.99999999999*grnd () *nnx+1
iynew=0.99999999999*grnd () *nny+1
iznew=nnz
if(k.ge.50) iznew=nnz
adatom(ianew,1)=ixnew
adatom(ianew,2)=iynew
adatom(ianew,3)=iznew

write(6,%*) k=’ ,k
enddo
endif 'k<-1

latf (ixnew,iynew,iznew)=ianew
write(6,*)ixnew,iynew
if (iznew .ge. nnz-idep+2) then
do k=1,idep-1
call moveO(iad,nnx,nny,nnz,latf,adatom,
ixnew,iynew,iznew,ianew,iiend)
enddo !'k=1,idep-1
endif !if iznew >= nnz-idep+2
1111l new adatom end !!!!!
endif ! itr==itrmax
I''l end depositing new adatom

if(ii==iiend) then
write(6,*) ’Etot=’,Etot
do ia=iad-5,iad
write(6,*)ia,ncd(ia)
do j=1,12
write(6,*)Energy(ia,j),Transitionrate(ia,j)
enddo
enddo
rsum_ave=rsum_ave/iiend
write(6,’(al0,el1.4,al13,e11.4,a11,e11.4)’)
’rsum_ave =’,rsum_ave,’ , Deporate =’,Deporate,
>, r_ave = ’,rsum_ave/float(n_posi_Tr)
endifl!ii==iiend

call write_coordinates(ii,iiend,iall,nnx,nny,nnz,x,y,z,
mask,mask2,ianum,nfix,ntemp,nfree,
alatc,cellx,celly,cellz,latf,
nzfix,nztemp,nzfree,idep,iad,isub
,Strain,iad_end)

randt=(1.0d0-1.0d-12)*grnd () +1.0d-12
deltat=-log(randt)/rsum
t=t+deltat
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if(ii==1) write(103,’(2e13.5,i7)’)t,deltat,iad

if (iiend>=20)then
if (mod(ii,20)==0)then
wr1te(6 > (a45,19)7)

endif ! mod(ii,20)==0
endif ! iiend>=20

if (mod(ii,iisnap_cn)==

do jj=1,12
num_cn(jj)=0
rt_cn(jj)=0.0d0

enddo

do ia=1,iad
num_cn(ncd(ia))=num_cn(ncd(ia))+1

enddo 'ia=1,iad

do iss=1,nss
num_cn(ncd_ss(iss))=num_cn(ncd_ss(iss))+1

0) then

rt_cn(jj)=float(num_cn(jj))/float(iad+nss)
enddo
wr1te(105 ’(i15,e11.4,212,10i5,2e8.1,10e11.4 15) )ii,t

& (num_cn(JJ) jj=1,12), (rt_cn(JJ) jj=1,12), iad+nss
write(103,’(2e13.5)’)t,deltat
endif ! mod(ii,iisnap_cn)==

if (iad>=iad_end) exit
enddo step

open(104,file="memo.dat’)

write(104,’(a10,1i5)’)’iad > iad
write(104,’ (a10,1i5)’)’iad_end > iad_end
write(104,’ (a10,1i5)’)’iall > iall
write(104,’(a10,1i5)’) 'nnx > nnx
write(104,’ (a10,1i5)’) ’nny >, nny
write(104,’(al10,1i5)’) nnz ’ nnz
write(104,’(a10,1i5)’)’iiend > iiend

write(104,’ (a10,e12.5,ab)’) ’Temp ?,Temp,’ [K]’
write(104,’ (al10,e12.5,a7)’) ’rsum_ave ’,rsum_ave,’ [1/s]’
write(104,’ (a10,e12.5,a7)’) ’Deporate ’,Deporate,’ [1/s]’
write(104,’ (a10,e12.5,a8)’) ’DepoML > ,DeporateML,’ [ML/s]’
write(104,’ (al10,e12.5,a5)’) cellx > cellx,’ [A]’
write(104,’ (a10,e12.5,ab)’) ’celly ’,celly,’ [A]’
write(104,’ (al0,e12.5,ab)’) cellz > cellz,’ [A]°
write(104,’(al10,e12.5,a5)’) ’alatc > alatc,’ [A]’
write(104,’ (al10,el12.5,a7)’)’t > 1, [sec]’

write(104,’ (al0,el2.

&

write(104,’ (al10,el12.

write(104,’(al10,el2.
write(104,’ (al10,el12.
write(104,’(al10,el12.
write(104,’(al10,el12.
write(104,’ (al10,el12.
write(104,’(al10,el12.
write(104,’(al10,el12.

5)’)’thick_ave 7,

iall/(nnx*nny)*alatc/sqrt (3.0d0)

5)’)’isl_dist

& (center_island(2,1)-center_island(1,1))*cellx
5)’)’centll > center_island(1,1)
5)’)’cent21 > center_island(2,1)
5)’)’widthi1l > width_island(1,1)
5)’)’width21 > width_island(2,1)
5)’)’nu_2 > nu_2
5)’)’nu_3 > nu_3
5)’)’nu_4 > nu_4
5)7)’nu(2) > ,nu(2)

write(104,’ (al10,el12.



write(104,’ (al0,e12.5) ) nu(3) > nu(3)
write(104,’(al10,e12.5)’) ’nu(4) > nu(4)
write(104,’ (a10,e12.5)’)’nu(b) > nu(b)
write(104,’ (al0,e12.5) ) ’nu(6) > nu(6)
write(104,’(a10,e12.5)’) nu(7) > nu(7)
write(104,’ (al10,e12.5)’)’Strain > Strain
close(104)

close(101)

close(102)

close(103)

close(105)

close(106)

close(107)

if(ii==0) then
write(6,*)intrand(1,10),CoordinationNumber ()
endif !ii==0
Etot=0,0d0
1ad=1000000
do ia=1,iad
t=0.99999999999d0*grnd ()
Etot=Etot-log(t)
enddo
write(6,*)Etot/float (iad)
if (iad>=iad_end)write(6,’ (a32)’) ’adatoms increased up to iad_end.’
write(6,’(al0)’)’Completed.’

stop
end program kmc_main
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrprrrnd
! end main program
NEERERERE RN AR RN R R R R R R RN R RN RN R R RN R R R R R RE RN
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integer function mx(cx,cy,cz,jdir)
use mod_allocate_variables
implicit none

integer,intent(in) :: cx,cy,cz,jdir

if ((jdir==1) .or. (jdir==4) .or. (jdir==8) .or. (jdir==11)) then
if( ((mod(cy,2)==1).and. (mod(cz,3)==2))

& .or. ((mod(cy,2)==0) .and. (mod(cz,3)==1))
& .or. ((mod(cy,2)==1) .and. (mod(cz,3)==0)) ) then
mx=cx-1
endif
if( ((mod(cy,2)==0).and. (mod(cz,3)==2))
& .or. ((mod(cy,2)==1) .and. (mod(cz,3)==1))
& .or. ((mod(cy,2)==0) .and. (mod(cz,3)==0)) ) then
mX=CX
endif
endif

if ((jdir==2).or. (jdir==5) .or.(jdir==9) .or.(jdir==12)) then
if( ((mod(cy,2)==1).and. (mod(cz,3)==2))

& .or. ((mod(cy,2)==0) .and. (mod(cz,3)==1))
& .or. ((mod(cy,2)==1) .and. (mod(cz,3)==0)) ) then
mx=cx
endif
if(  ((mod(cy,2)==0).and. (mod(cz,3)==2))
& .or. ((mod(cy,2)==1) .and. (mod(cz,3)==1))
& .or. ((mod(cy,2)==0) .and. (mod(cz,3)==0)) ) then
mx=cx+1
endif
endif

if (jdir==3) mx=cx
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if(jdir==6) mx=cx-1
if (jdir==7) mx=cx+1
if (jdir==10) mx=cx

if (mx .ge. nnx+1) mx=mx-nnx
if(mx .le. 0) mx=mx+nnx
end ! function mx
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integer function my(cx,cy,cz,jdir)
use mod_allocate_variables

implicit none

integer,intent(in) :: cx,cy,cz,jdir

if ((jdir==1) .or. (jdir==2)) then
if (mod(cz,3) .ne.0) my=cy
if (mod(cz,3) .eq.0) my=cy+1
endif

if (jdir==3) then
if (mod(cz,3) .ne.0) my=cy-1
if (mod(cz,3) .eq.0) my=cy
endif

if ((jdir==4) .or.(jdir==5)) my=cy+1
if ((jdir==6).or.(jdir==7)) my=cy
if ((jdir==8) .or. (jdir==9)) my=cy-1

if (jdir==10) then
if (mod(cz,3) .ne.2) my=cy+1
if (mod(cz,3) .eq.2) my=cy
endif

if ((jdir==11) .or. (jdir==12)) then
if (mod(cz,3) .ne.2) my=cy
if (mod(cz,3) .eq.2) my=cy-1
endif

if(my .ge. nny+1) my=my-nny
if(my .le. 0) my=my+nny

if(cx.1t.0) write(6,*)’x<0 ?’

end ! function my
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integer function mz(cx,cy,cz,jdir)
use mod_allocate_variables

implicit none

integer,intent(in) :: cx,cy,cz,jdir
if((jdir.ge.1) .and. (jdir.le.3)) then

mz=cz-1
endif

if((jdir.ge.4) .and. (jdir.le.9)) then
mz=cz
endif

if((jdir.ge.10) .and. (jdir.le.12)) then
mz=cz+1
endif

if(mz .ge. nnz+1) mz=mz-nnz
if(mz .le. 0) mz=mz+nnz
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if(cx.1t.0) write(6,*)’x<0 7’
if(cy.1t.0) write(6,%)’y<0 7’
end ! function mz
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integer function CoordinationNumber(jx,jy,jz)
use mod_allocate_variables

implicit none

integer,intent(in) :: jx,jy,jz

integer mx,my,mz

integer kdir

integer ncn

integer intrand

ncn=0
if((jz>=2) .and. (jz<=nnz-1)) then
do kdir=1,12
if (Qatf (mx(jx,jy,jz,kdir) ,my(jx, jy, jz,kdir)
& ,mz(jx,jy,jz,kdir)) .ge.0) ncn=ncn+l
enddo ]
endif ! 2 <= jz <= nnz-1
if(jz==1) then

do kdir=4,12
if (Qatf (mx(jx,jy,jz,kdir) ,my(jx, jy, jz,kdir)
& ,mz(jx,jy,jz,kdir)) .ge.0) ncn=ncn+l
enddo

n
endif | jz ==
if (jz==nnz) then

do kdir=1,9
if (latf (mx(jx, jy, jz,kdir) ,my(jx,jy,jz,kdir)
& ,mz(jx,jy,jz,kdir)) .ge.0) ncn=ncn+l
enddo
endif ! jz == nnz

if(iiend==0) then
CoordinationNumber=intrand(1,12)
endif

CoordinationNumber=ncn

en
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subroutine moveO(iad,nnx,nny,nnz,latf,adatom,

& ixa,iya,iza,ia,iiend)
implicit none

integer :: iad,iiend

integer :: nnx,nny,nnz

integer :: latf(nnx,nny,nnz)

integer :: adatom(iad+iiend+100000,3)

integer :: ixa,iya,iza,ia

real*8 grnd,rand0

integer :: jxalu, jyalu, jxaru, jyaru, jxad, jyad, jzam

! atoms that exist left_up side,right_up side,down side of ia atom

integer :: ixa0,iya0,izal

integer :: k

! register 3 atoms on the under layer
if (mod(iza,3)==2 .and. mod(iya,2)==0) then
jxalu=ixa
jyalu=iya
jxaru=ixa+l
jyaru=iya
jxad=ixa
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jyad=iya-1
endif ! iza=2,iya=0

if (mod(iza,3)==2 .and.

jxalu=ixa-1
jyalu=iya
jxaru=ixa
jyaru=iya
jxad=ixa
jyad=iya-1
endif ! iza=2,iya=1
if (mod(iza,3)==
jxalu=ixa
jyalu=iya
jxaru=ixa+l
jyaru=iya
jxad=ixa
jyad=iya-1
endif ! iza=1,iya=1
if (mod(iza,3)==1
jxalu=ixa-1
jyalu=iya
jxaru=ixa
jyaru=iya
jxad=ixa
jyad=iya-1
endif ! iza=1,iya=1

if (mod(iza,3)==0 .and.

jxalu=ixa
jyalu=iya+1
jxaru=ixa+l
jyaru=iya+1
jxad=ixa
jyad=iya

endif ! iza=0,iya=0

if (mod(iza,3)==0 .and.

jxalu=ixa-1
jyalu=iya+1l
jxaru=ixa
jyaru=iya+1
jxad=ixa
jyad=iya
endif ! iza=0,iya=1
if(jxalu .ge.
if(jxalu .le.
if (jyalu .ge.
if(jyalu .le.
if (jxaru .ge.
if (jxaru .le.
if(jyaru .ge.

.and.

.and.

mod (iya,2)==1)

mod (iya,2)==1)

mod (iya,2)==0)

mod (iya,2)==0)

mod (iya,2)==1)

nnx+1) jxalu=jxalu-nnx
0) jxalu=jxalu+nnx
nny+1) jyalu=jyalu-nny
0) jyalu=jyalu+nny
nnx+1) jxaru=jxaru-nnx
0) jxaru=jxaru+nnx
nny+1) jyaru=jyaru-nny

if(jyaru .le.
.ge.
.le.
.ge.
.le.

if (jxad
if (jxad
if (jyad
if (jyad

jzam=iza-

1

move to the

ixaQ=ixa
iyalO=iya
izalO=iza

0) jyaru=jyarut+nny
nnx+1) jxad=jxad-nnx
0) jxad=jxad+nnx
nny+1) jyad=jyad-nny
0) jyad=jyad+nny

under layer
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then
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then
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k=0
if ( (latf(jxalu,jyalu, jzam)==-1)

& .and. (latf(jxaru,jyaru,jzam)==-1)

& .and. (latf(jxad,jyad,jzam)==-1) .and.(k==0) ) then
randO=grnd () *0.999999999994d0
iza=jzam

adatom(ia,3)=iza

if (rand0 .1t. 1.0d0/3.0d0) then
latf(ixa0,iya0,iza0)=-1
ixa=jxalu
iya=jyalu
adatom(ia,1)=ixa
adatom(ia,2)=iya
latf(ixa,iya,iza)=ia

endif ! if randO < 1/3

if ((rand0 .ge. 1.0d0/3.0d0).and.(rand0 .1t. 2.0d0/3.0d0)) then
latf(ixa0,iya0,iza0)=-1
ixa=jxaru
iya=jyaru
adatom(ia,1)=ixa
adatom(ia,2)=iya
latf(ixa,iya,iza)=ia

endif ! if 1/3 < rand0 < 2/3

if(rand0 .ge. 2.0d0/3.0d0) then
latf(ixa0,iya0,iza0)=-
ixa=jxad
iya=jyad
adatom(ia,1)=ixa
adatom(ia,2)=iya
latf(ixa,iya,iza)=ia

endif ! if 2/3 < rand0O

k=1
endif ! if lu=-1,ru=-1,d=-1
if ( (latf(jxalu,jyalu, jzam) >= 0)

& .and. (latf(jxaru,jyaru,jzam)==-1)

& .and. (latf(jxad,jyad,jzam)==-1) .and.(k==0) ) then
randO=grnd () *0.999999999994d0
iza=jzam

adatom(ia,3)=iza

if(rand0 .1t. 1.0d0/2.0d0) then
latf(ixa0,iya0,iza0)=-
ixa=jxaru
iya=jyaru
adatom(ia,l)=ixa
adatom(ia,2)=iya
latf(ixa,iya,iza)=ia

endif ! if randO < 1/2

if(rand0 .ge. 1.0d0/2.0d0) then
latf(ixa0,iya0,iza0)=-
ixa=jxad
iya=jyad
adatom(ia,1)=ixa
adatom(ia,2)=iya
latf(ixa,iya,iza)=ia

endif ! if 1/2 < randO

k=1
endif ! if 1u>=0,ru=-1,d=-1

if ( (latf(jxalu,jyalu, jzam)==-1)
& .and. (latf(jxaru,jyaru,jzam) >= 0)
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& .and. (latf(jxad, jyad,jzam)==-1) .and.(k==0) ) then
randO=grnd () *0.999999999994d0
iza=jzam
adatom(ia,3)=iza
if(rand0 .1t. 1.0d0/2.0d0) then

latf(ixa0,iya0,iza0)=-
ixa=jxalu
iya=jyalu
adatom(ia,1)=ixa
adatom(ia,2)=iya
latf(ixa,iya,iza)=ia
endif ! if randO < 1/2
if (rand0 .ge. 1.0d0/2.0d0) then
latf(ixa0,iya0,iza0)=-1
ixa=jxad
iya=jyad
adatom(ia,1)=ixa
adatom(ia,2)=iya
latf(ixa,iya,iza)=ia
ﬁn?if I if 1/2 < rand0
endif ! if lu=-1,ru>=0,d=-1

if ( (latf(jxalu, jyalu, jzam)==-1)

& .and. (latf(jxaru,jyaru,jzam)==-1)

& .and. (latf(jxad,jyad,jzam)>=0) .and.(k==0) ) then
randO=grnd () *0.99999999999d0
iza=jzam

adatom(ia,3)=iza

if(rand0 .1t. 1.0d0/2.0d0) then
latf(ixa0,iya0,iza0)=-1
ixa=jxalu
iya=jyalu
adatom(ia,1)=ixa
adatom(ia,2)=iya
latf(ixa,iya,iza)=ia

endif ! if randO < 1/2

if (rand0 .ge. 1.0d0/2.0d0) then
latf(ixa0,iya0,iza0)=-1
ixa=jxaru
iya=jyaru
adatom(ia,1)=ixa
adatom(ia,2)=iya
latf(ixa,iya,iza)=ia

endif ! if 1/2 < randO

k=
endif ! if lu=-1,ru=-1,d>=0
if( (latf(jxalu, jyalu, jzam)==-1)

& .and. (latf(jxaru,jyaru,jzam)>=0)
& .and. (latf(jxad,jyad,jzam)>=0) .and.(k==0) ) then
latf(ixa0,iya0,iza0)=-1
ixa=jxalu
iya=jyalu
iza=jzam

adatom(ia,1)=ixa
adatom(ia,2)=iya
adatom(ia,3)=iza
latf(ixa,iya,iza)=ia

endif ! if lu=-1,ru>=0,d>=0
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if( (latf(jxalu,jyalu, jzam)>=0)
& .and. (latf(jxaru, jyaru,jzam)==-1)
& .and. (latf(jxad, jyad, jzam)>=0) .and.(k==0) ) then
latf(ixa0,iya0,iza0)=-
ixa=jxaru
iya=jyaru
iza=jzam
adatom(ia,1)=ixa
adatom(ia,2)=iya
adatom(ia,3)=iza
latf(ixa,iya,iza)=ia

endif ! if 1lu>=0,ru=-1,d>=0
if ( (latf(jxalu,jyalu, jzam)>=0)

& .and. (latf(jxaru,jyaru,jzam)>=0)
& .and. (latf(jxad, jyad, jzam)==-1) .and.(k==0) ) then
latf(ixa0,iya0,iza0)=-1
ixa=jxad
iya=jyad
iza=jzam

adatom(ia,1)=ixa
adatom(ia,2)=iya
adatom(ia,3)=iza
latf(ixa,iya,iza)=ia

k=1
endif ! if 1u>=0,ru>=0,d=-1

if( (latf(jxalu,jyalu, jzam)>=0)
& .and. (latf(jxaru,jyaru,jzam)>=0)
& .and. (latf(jxad,jyad,jzam)>=0) .and.(k==0) ) then

endif ]
end subroutine moveO
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subroutine write_coordinates(ii,iiend,iall,nnx,nny,nnz,x,y,z,
mask,mask2,ianum,nfix,ntemp,nfree,
alatc,cellx,celly,cellz,latf,
nzfix,nztemp,nzfree,idep,iad, isub
,Strain,iad_end)

R

! ‘use mod_allocate_variables
implicit none

integer,intent(in) :: ii

integer :: iiend,iad_end

integer :: iall

integer :: nnx,nny,nnz

integer :: nzfix,nztemp,nzfree,idep
integer,intent(in) :: nfix,ntemp,nfree
integer,intent(in) :: iad,isub
real*8,intent(in) :: cellx,celly,cellz
integer :: latf(nnx,nny,nnz)

real*8 :: x(isub+iad+iiend+100000),
& y(isub+iad+iiend+100000) ,z(isub+iad+iiend+100000)
integer :: mask(isub+iad+iiend+100000),
& mask?2 (isub+iad+iiend+100000)
integer :: ianum(isub+iad+iiend+100000)
integer :: koma,iisnap,nsnap

real*8 :: alatc

real*8,intent(in) :: Strain

real*8 route3,route2

integer :: i,ix,iy,iz
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integer :: natomnum,nprognum

integer :: iclr
real*8 :: wmass
character(len=100) :: dirname
character(1len=100) :: filename

nzfree=nzfree+0

route3=sqrt(3.0d0)
route2=sqrt(2.0d0)
1=0

do iz=1,nnz
do iy=1,nny
do ix=1,nnx
if (latf(ix,iy,iz).ge. 0) then

i=i+1
if(i .ge. 1) then
if ((mod(iz,3).eq.2) .and. (mod(iy,2) .eq. 1)) then
x(i)=(ix-1)*alatc/route2
y(i)=(iy-1)*alatc*route2*route3/4.0d0

endif

if ((mod(iz,3).eq.2) .and. (mod(iy,2) .eq. 0)) then
x(i)=(ix-1)*alatc/route2+alatc/(2*route2)
y(i)=(iy-1)*alatc*route2*route3/4.0d0

endif

if ((mod(iz,3).eq.1) .and. (mod(iy,2) .eq. 1)) then
x(i)=(ix-1)*alatc/route2+alatc/(2*route2)
y(i)=(iy-1)*alatc*route2*route3/4.0d0

& +alatc*route2*route3/12.0d0

endif

if ((mod(iz,3).eq.1) .and. (mod(iy,2) .eq. 0)) then
x(1)=(ix-1)*alatc/route2
y(i)=(iy-1)*alatcxroute2*route3/4.0d0

& +alatc*route2*route3/12.0d40

endif

if ((mod(iz,3).eq.0) .and. (mod(iy,2) .eq. 1)) then
x(i)=(ix-1)*alatc/route2
y(i1)=(iy-1)*alatc*route2*route3/4.0d0

& +alatc*xroute2*route3/6.0d0

endif

if ((mod(iz,3).eq.0) .and. (mod(iy,2) .eq. 0)) then
x(i)=(ix-1)*alatc/route2+alatc/(2*route2)
y(i)=(iy-1)*alatc*route2*route3/4.0d0

& ) +alatckroute2*route3/6.0d0

if
(1)=celly-y(i)
(i)=(iz-1)*alatc*route3/3.
DT T T i e idep 111
if((iz .ge.(nnz-idep+1)) .and. (mod(iz,3)==0)) then
mask(1)=i+300!14 'atomic color=red
endif
if((iz .ge.(nnz-idep+1)).and. (mod(iz,3)==1)) then
mask(i1)=i+600!13 'atomic color=red-red-orange
endif
if((iz .ge.(nnz-idep+1)) .and. (mod(iz,3)==2)) then
mask(i)=iall 'atomic color=red-orange-orange
endif
if((iz .ge. 2).and.(mod(iz,3).eq.1))mask(i)=1
if((iz .ge. 1).and.(iz .le. nzfix))mask(i)=1
latomic color=green
if((iz .ge. 2).and.(mod(iz,3).eq.2))mask(i)=6
if((iz .ge. (nzfix+nztemp)).and.(iz .le. (nnz-idep)))mask(i)=5

62



latomic color=yellow

if((iz .ge. 2).and.(mod(iz,3).eq.0))mask(i)=11

if((iz .gt. nzfix).and.(iz .le. (nzfix+nztemp)))mask(i)=9
latomic color=orange

mask2(i)=latf (ix,iy,iz)
mask2(i)=iz

endif ! 1 .ge. 1
endif ! latf(ix,iy,iz)>=0
enddo ! ix=1,nnx
enddo ! iy=1,nny
enddo ! iz=1,nnz

write(6,’(i3,3£f10.5)’)ii,y(1),y(2),y(8)

if( (ii==1).or.(ii==iiend) )write(6,’(£10.5)’)y(1)

do i=1,iall
write(101,°(3£10.4)°)x(i),cellz-z(i),y (1)

write(102,*)mask (i)
enddo

iisnap=400
nsnap=20 ! number of cfg files
if (iiend<nsnap)then
nsnap=iiend

endif

iisnap=iiend/nsnap

if( (mod(ii,iisnap)==0)
& .or.((ii==0) .and. (iiend==0)) ) then
N if (ii==0) then
koma=ii/iisnap+1

if ((1i==0) .and. (iiend==0)) koma=0
write(6,’(a6,1i5)’) ’koma =’,koma
write(dirname,’ (a4)’) ’CFGs’
write(filename,’(i5.5,".cfg")’)koma
write(6,*)dirname,filename
open(201,file=trim(dirname)//trim(filename))
open(201,file=trim(filename))

lwrite header information

write(201,’ (a22,i7)’) ’Number of particles = ’,iall
write(201,’(a4,f10.5,a30)’)’A = ’,1.0,

& > Angstrom (basic length-scale)’
write(201,’(a10,f10.5,a2)’)’H0(1,1) = ’,cellx,’ A’
write(201,’(a10,f10.5,a2)’)’H0(1,2) = ’,0.0,’ A’
write(201,’(a10,f10.5,a2)’)’H0(1,3) = ’,0.0,’ A’
write(201,’(a10,f10.5,a2)’)’H0(2,1) = ’,0.0,’ A’
write(201,’(a10,£10.5,a2)’)’H0(2,2) = ’,celly,’ A’
write(201,’(a10,f10.5,a2)’)’H0(2,3) = ’,0.0,’ A’
write(201,’(a10,f10.5,a2)’)’H0(3,1) = ’,0.0,’ A’
write(201,’(a10,f10.5,a2)’)’H0(3,2) = ’,0.0,’ A’
write(201,’(a10,f10.5,a2)’)’H0(3,3) = ’,cellz+5.040,’ A’

write(201,’(a13)’)’ .NO_VELOCITY.’
write(201,’ (a14,i3)’) ’entry_count = ’,5
write(201,’ (a25)’) ’auxiliary[0] = color [ ] °’
write(201,’ (a25)’)’auxiliary[1] = color2 [ ]
natomnum=1

nprognum=1

natomnum=natomnumx*1
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nprognum-nprognum*l
wmass=63.55d
write (201, ’(flO 5) ’)wmass
write(201,’(a2)’)’Cu)’
do i=1,iall
iclr=1
if(i. gt isub)iclr (i-isub+1)*10
iclr=icl
M write (201, ’(3e13 5,14)°)x(i)/cellx,y(i)/celly,z(i)/cellz,mask(i)
write (201, ’(3e13 5,2i6)’)x(i)/cellx,y(i)/celly,
(cellz—z(i)—alatc*route3/3.0dO)/cellz,
i, 'mask(i)
mask2(i) !colr2
enddo

close(201)

R

if(( (iad.ge.1).and.(ii==iiend) )
& .or.( (iad==0).and.(ii==0) )
& .or.( (ii==0).and.(iiend==0) )
& .or.( iad>=iad_end ) ) then

open(301,file="Atom_posi.dat’)
open(302,file=’Atom_lat.dat’)
open(303,file=’st_Atom_posi.dat’)
open(304,file="st_Atom_lat.dat’)

write(301,%*)iall
write(301,*)nfree+iad,ntemp,nfix
write(303,*)iall
write(303,*)nfree+iad,ntemp,nfix
prrrrrrrrrrtill displacement
do i=1,iall
write(301,’(i2,6e21.13)’)ianum(iall+1-i),x(iall+1-i),y(iall+1-i)
,z(1all+1-1),0.0,0.0,0.0
write(303,’(i2,6e21.13)’)ianum(iall+1-1)
,x(iall+1-1)*(1.0d0+Strain)
,y(iall+1-i)*(1.0d0+Strain)
,z(1iall+1-1),0.0,0.0,0.0

ISR SR S

enddo

write(301,%*)iall

write(301,%)

write(303,*)iall

write(303,*)

do i=1,iall
wr1te(301 ’(12,3e21.13)’)ianum(i),0
write(303,’(i2,3e21.13)’)ianum(i),0

enddo

write(302,°(3e21.13)’)cellx,0.0,0.0
write(302,’(3e21.13)’)0.0,celly,0.0
write(302,’(3e21.13)°)0.0,0.0,cellz*2.5d0
write(302,°(3e21.13)’)cellx,0.0,0.0
write(302,’(3e21.13)°)0.0,celly,0.0
write(302,7(3e21.13)°)0.0,0.0,cellz*2.5d0
write(304,°(3e21.13)’)cellx*(1.0d0+Strain),0.0,0.0
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write(304,’(3e21.13)7)0.0,celly*(1.0d0+Strain),0.0
write(304,’(3e21.13)°)0.0,0.0,cellz*2.5d0
write(304,°(3e21.13)’)cellx*(1.0d0+Strain),0.0,0.0
write(304,°(3e21.13)’)0.0,celly*(1.0d0+Strain),0.0
write(304,’(3e21.13)°)0.0,0.0,cellz*2.5d0

close(304)
close(303)
close(302)
close(301)

end subroutine write_coordinates
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integer function mod2(a,b)
implicit none
integer,intent(in) :: a,b
mod2=mod(a,b)+((b-mod(a,b))/b)*b
end !'function mod2
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integer function intrand(min,max)
implicit none
integer,intent(in) :: min,max
real*8 grnd

intrand=min+(max-min+1)*grnd()*0.99999999999d0

en
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subroutine sgrnd(seed)
*

implicit integer(a-z)

* %

Period parameters
parameter (N = 624)

dimension mt(0:N-1)

* the array for the state vector
common /block/mti,mt
save  /block/

setting initial seeds to mt[N] using

the generator Line 25 of Table 1 in

[KNUTH 1981, The Art of Computer Programming
Vol. 2 (2nd Ed.), ppl102]

mt(0)= iand(seed,-1)
do 1000 mti=1,N-1
mt (mti) = iand(69069 * mt(mti-1),-1)
*1000 continue
return

end
sokokokokok ok ok ok ok ok sk ok okokokok ok sk ok ok sk ok sk sk sk ok ok ok sk sk sk ok koo sk ok ok sk sk ok ok skok ok o ok ok sk ok ok sk koo ok ok kK ok
double precision function grnd()

* X X X X %

*
implicit integer(a-z)

*

* Period parameters
parameter (N = 624)
parameter (N1 = N+1)
parameter (M = 397)
parameter (MATA = -1727483681)
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constant vector a
-2147483648)

most significant w-r bits
2147483647)
least significant r bits

parameter (UMASK

parameter (LMASK

Tempering parameters

1000

1100

parameter (TMASKB= -1658038656)
parameter (TMASKC= -272236544)

dimension mt(0:N-1)
the array for the state vector
common /block/mti,mt
save /block/
data mti/N1/
mti==N+1 means mt[N] is not initialized

dimension mag01(0:1)
data mag01/0, MATA/
save mag01l
magl0l(x) = x * MATA for x=0,1

TSHFTU(y)=ishft(y,-11)
TSHFTS (y)=ishft (y,7)

TSHFTT (y)=ishft (y, 15)
TSHFTL (y)=ishft(y,-18)

if (mti.ge.N) then
generate N words at one time
if (mti.eq.N+1) then
if sgrnd() has not been called,
call sgrnd(4357)

) a default initial seed is used
endif
do 1000 kk=0,N-M-1

y=ior(iand (mt (kk) ,UMASK) ,iand (mt (kk+1) ,LMASK))

mt (kk)=ieor (ieor (mt (kk+M) ,ishft(y,-1)) ,mag01(iand(y,1)))

continue
do 1100 kk=N-M,N-2
y=ior (iand (mt (kk) ,UMASK) ,iand (mt (kk+1) ,LMASK))
mt (kk)=ieor (ieor (mt (kk+(M-N)),ishft(y,-1)),mag01(iand(y,1)))
continue
y=ior (iand (mt (N-1) ,UMASK),iand (mt(0) ,LMASK))
mt (N-1)=ieor (ieor (mt (M-1),ishft(y,-1)) ,mag01(iand(y,1)))
mti = O
endif
y=mt (mti)
mti=mti+

1

y=ieor(y,TSHFTU(y))
y=ieor(y,iand (TSHFTS(y) ,TMASKB))
y=ieor(y,iand (TSHFTT (y) ,TMASKC))
y=ieor (y,TSHFTL(y))

if(y.1t.0) then
grnd=(dble (y)+2.0d0**32)/(2.0d0**32-1.0d0)

else
grnd=dble(y)/(2.0d0**32-1.0d0)
endif

return
end
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